
DGA90−7N

DGA90−1A 545,557,570

545
557

570

VoVa

Mo Lo

λ /nm

uλ

logarithm. Va, Vo-Daten
log Va =( logMo+ logLo)/2
log Vo = logVa + 0,02
log [ Vo, Va, Mo, Lo ]

uλ=(λ − 550) / 50
logMo=−0,35[uλ−u545]2

logLo=−0,35[uλ−u570]2

Adaptation: λML=557
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DGA90−2A 545,557,570
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Lo/VaMo/Va

λ /nm

uλ

logarithm. Va, Vo-Daten
log Va =( logMo+ logLo)/2
log Vo = logVa + 0,02
log [ Mo / Va, Lo / Va,  ]

uλ=(λ − 550) / 50
logMo=−0,35[uλ−u545]2

logLo=−0,35[uλ−u570]2

Adaptation: λML=557
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DGA90−3A 545,557,570

545
557

570

VoVa

Ma La

λ /nm

uλ

log Va=( logMo+ logLo)/2
log Vd=( logMo− logLo)/2
log Ma=( logVa− 1[logVd])
log La=( logVa+ 1[logVd])

uλ=(λ − 550) / 50
logMo=−0,35[uλ−u545]2

logLo=−0,35[uλ−u570]2

Adaptation: λML=557
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DGA90−4A 520,557,595

545
557

570

La/VaMa/Va

λ /nm

uλ

log Va=( logMo+ logLo)/2
log Vd=( logMo− logLo)/2
log Ma=( logVa− 1[logVd])
log La=( logVa+ 1[logVd])

uλ=(λ − 550) / 50
logMo=−0,35[uλ−u545]2

logLo=−0,35[uλ−u570]2

Adaptation: λML=557
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DGA90−5A 532,545,557,570,582

532545
557

570582

VoVa MaLa

Pa Oa

λ /nm

uλ

log Va=( logMo+ logLo)/2
log Vd=( logMo− logLo)/2
log Pa=( logVa− 2[logVd])
log Oa=( logVa+ 2[logVd])

logMo=−0,35[uλ−u545]2

logLo=−0,35[uλ−u570]2

logPo=−0,35[uλ−u532]2

logOo=−0,35[uλ−u582]2
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DGA90−6A 532,545,557,570,582

532545
557

570582

Oa/VaPa/Va

λ /nm

uλ

log Va=( logMo+ logLo)/2
log Vd=( logMo− logLo)/2
log Pa=( logVa− 2[logVd])
log Oa=( logVa+ 2[logVd])

logMo=−0,35[uλ−u545]2

logLo=−0,35[uλ−u570]2

logPo=−0,35[uλ−u532]2

logOo=−0,35[uλ−u582]2
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DGA90−7A 507,545,557,570,607

507 545
557

570 607 RaGa

RoGo

VoVa MaLa

λ /nm

uλ

log Va=( logMo+ logLo)/2
log Vd=( logMo− logLo)/2
log Ga=( logVa− 4[logVd])
log Ra=( logVa+ 4[logVd])

logMo=−0,35[uλ−u545]2

logLo=−0,35[uλ−u570]2

logGo=−0,35[uλ−u507]2

logRo=−0,35[uλ−u607]2
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DGA90−8A 507,545,557,570,607

507 545
557

570 607

Ra/VaGa/Va

λ /nm

uλ

log Va=( logMo+ logLo)/2
log Vd=( logMo− logLo)/2
log Ga=( logVa− 4[logVd])
log Ra=( logVa+ 4[logVd])

logMo=−0,35[uλ−u545]2

logLo=−0,35[uλ−u570]2

logGo=−0,35[uλ−u507]2

logRo=−0,35[uλ−u607]2
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